61. Simplify (55)~>.
a. 6x°

b. 8x°

1
Co 6 x6

3
d.g

1
eo 8x5



63. Simplify 36> .
a. -6
b. -216
c. —12
d. 51¢
1

€. =716



8. The product (2x4y)(3x5y8) is equivalent to:
5x°y°

6x9y8

6x°y°

5x20y8

6x20y®

R E D



17. Simplify —(6x%/°)2.

a.
. 36x%y

o an o

—36x%y°

—36x%°

. 36x%4

—-36xy



4. Which of the following is equivalent to (4x%)> ?

F. 64x°
G. 64x°
H. 12x°
J. 12¢%
K. 4x°



[

22. For all a > 1, the expression

1
F. 5
G. -a*
H. a’

S
|

3a*

3a°

equals:



35. (3x3)3 is equivalent to:

A. X

B. 9x°
C. 9%
D. 27x°

E. 27x°
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50. If x=3%and y =37? then what is y in terms of x ? 5}’&&/2/' ;ﬂj/’/ % te €S 7 rpn/

i N T Y-z

G. y

L ,
Fomrt o= o g T~
,
K. 3

s _égjx‘fao becomes. 2° = XY Wb Cnvedl®
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29 If a, b and C are posmve mtegers such that a -—gc __a_nq = . S

c -y, thenxy =."7 '
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H. 6azb3
_,’Jo 6asb6

8. For all a and b, 3a%b°
- F. 50%° (203b3)-o
#
W//V Za. L)B(Z&B éz)
a b° =




25. The expression —8)c3(7x6 — 3x5) is equivalent to:

A. =56x° + 24x°

B. —56x  —24x"
C. -56x" + 24x"°
D. —56x'® — 24x"
E. -32x°



~ 41. For positive real numbers x, y, and z, which 6f the -
“». following expreSsions is equivalent to x?y3z° 7
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20. Simplify V/16x54.
f. 2xym
g. 8x%y
h. 8xy\3/5
1. 2xy\3/g/
j. 4x2y2\3/3_c



